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Ife s TRRUfIS g1 daar O ot
TR A 9497 ©, A IR O WR W) fha

Sofl ARferg grfl ——.
(2) 30% (b) 20%
(c) 10% (d) 1%

CH,COOH + CH, - CH,OH —%[A] +
H,0 SIRrh gfafsar # Aiffie [Al....2 |
(a) CH,-CH,-O-CH,-CH,

(b) CH,-CH,-COOCH,

(¢) H-C-O-CH-CH-CH,

O
(d) CH;Cﬁ—O—CHZ—CH3
0]
fay ¢ uRuer § A &R B & 9 g&

IfoRIeT 8—

10 60 30

A B
0 60
(a) 20 (b) 6Q2
(©) 9Q (d) 120
T AR 616 T 32 HI HASH THMEAAD
(HCF) 2|
(a) 6 (b) 8
() 16 d) 32

Jfd LCM (x, 18)=36 @T HCF (x, 18)=2
81 a1 x BT A B

(a) 2 (b) 3
(c) 4 (d) 6
fgemd ague ke + Sx + 3k YRATH Bl
I 9 OB SRISR 8 T k BT H1- BN |
@ > 0 =

5 3

-3 5
© @ 3
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If an ecosystem is composed of only three
trophic levels then how much energy will be

conserved at the 3rd trophiclevel .

(a)30% (b) 20%

(c) 10% (d) 1%

Syphilis whicha STD is caused by .
(a) Virus (b) Fungus

(c) Bacteria (d) Mycoplasma

CH,COOH + CH, - CH,OH —%2[A] +

H,0O Compund [A] in above reactionis __.

(a) CH,-CH,-O-CH,-CH,

(b) CH,-CH,-COOCH,

(c) H-ﬁ:-O-CH;-CHz-CH
O

(d) CH3—(|3|—O—CH2—CH3

In the given circuit the equivalent resistance
between Aand Bis :-

10 60 30

A B
6Q 6Q

| ——)
() 20 (b) 6Q2
(©) 90 (d) 120
The HCF of two numbers 616 and 32 is-
(a) 6 (b) 8
(c) 16 (d) 32

If the LCM (x, 18)=36 and HCF (x, 18)=2
than the value of x will be-

(a) 2 (b) 3

(c) 4 (d) o

If the sum of the zeroes of polynomial
kx*+ 5x + 3k is equal to their product, then

the value of £ will be-

3 -5
(a) 5 (b) ER

-3 5
(©) S (d) 3
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10.

11.

12.

13.

14.

15.

TgUS x>-5P YD B OHDA o |

(@ 5 (b) -5
© /5 (d) 0
kd fra a9 & fog 7 YRaa a#iaRon
® g BT DIy 8l T8l © |
Ix+y=1; Ck-Dx+y=k+1
(a) 2 M) 1
(c) 3 (d) 4

fgerma IMdRoT 332 —2/6x+2=0 ®
fafdadam= &1 79 2|

(a) 12 (b) -12

() 18 d) 0
AP:2,/8,4/18,4/32,... BT 914 R & |
@ /8 (b) 2

(© 18 d) 32

39101 & 97 5 3 faiird @ arell a1
Trd ARl & ANTH B |

(a) 1060 (b) 2550

() 1050 (d) 3050

| a@fd 9 AfE DE | BC € A AC &1
A BT |

(a)2.6m (b)5.2m
(c)3.9m (d)6.2m
QT SearR G B S arg HA 6m T 11m
g a1 @™l & frael AR @ & 12m &

a1 =it & ST RRE & dia a1 o 8ef
(a) 17m (b) 11m
(c) 12m (d)13m

favgail A(x+4,+5) T B(6-x, 3-y) BT AT
Il YWEvS & 7 g @ Adena ¥
(a)(4,3) (b)(5,4)

(c)(4,7) (d) 3,4
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10.

I1.

12.

13.

14.

15.

The product of the zeroes of polynomial x?-5
is -
(@) 5 (b) -5
© 5 (d) 0
For what value of £, the following pair of
equations has no solution ?

Ix+ty=1;, Ck-Dx+y=k+1
(a) 2 (b) 1
(c) 3 (d) 4
Discriminant of quadriatic equation

3x* = 24J6x+2=01s:-

(@) 12 (b) -12

(c) 18 (d 0

The common difference of AP:
NN T

(@) 8 (b) 2

© 18 ) 32

The sum of natural numbers divisible by 5
between 3 and 101 is -
(a) 1060
(c) 1050

(b) 2550
(d) 3050

In the given figure, if DE || BC, then the value
of AC will be -

(a)2.6m (b)5.2m

(c)3.9m (d)6.2m

The heights of two vertical poles are 6m and
I1mrespectively and the distance between the
foot of the poles is 12m, then the distance
between the top of the poles will be-

(a) 17m (b) 1lm

(c) 12m (d)13m

The coordinate of the midpoint of the line
segment joining the points A(x+4, y+5) and
B(6-x, 3-y) are :-
(a)(4,3)
(c)(4,7)

(b) (5,4)
(d)3,4)
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16.

17.

18.

19.

P § v Tv e uerelt &1 e
djA (A) QT T Pl (B) S I

SIIRINT & ST

BleH — A Bl — B

(A) &RT USSR (i) Hid IR BIA

(B) s et (i) H, 3k Cl, &1
SIvicG|

(C) TIf¥rT |reT (i) T €SI

(D) AT FARSS (iv) TeIrs

(a) A-(ii), B-(i), C-(iv), D-(iii)

(b) A-(iii), B=(ii), C-(iv), D-(i)

(c) A-(iii), B-(iv), C-(i), D-(i1)

(d) A-(ii), B-(iv), C-(i), D-(iii)

9 TS AfAfpe & IR # f=falad | 9@
DI AT HUT LT B |

3Fe(s) +4H,0(l) = Fe O,(s)+4H(g)

(i) <iig e1q T SATRIHIT B 2T ¢ |

(i) STt &7 3T=g 8 T&T B |

(iii) STeT UMD B WU H BRI PR TET ¢ |

(iv) ST ARIBRD & B H BRI B &
=
(a) (i), (ii) and (i) (b (iii) and (iv)
() (i), (i)and (iv)  (d) (i) and (iv)
f=forRad Bfa e &1d= AifTd &1 gormch
=
I
C
CH CH

3 3

AIRTS § HIAT JHITHG FHE SURId
27

(a) Yoohlat (b) tfcserss

(c) FETfRIfID 37t (d) Bred

@ ufar rfwfsarefiear = o9 & 8-
(a) AT > AFNRRM > Aifesw > Rid

(b) Niew > Aifsad > FFNRH > dET
(c) AIfeTd > FIRH > i > deT
(d) FIRH > |ifsaq > der> e
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16.

17.

18.

19.

Match the chemical substances given in column
(A) with their appropriate application given

column (B)
Column -1 Column - IT
(A) Bleaching powder (i) Preparation of glass
(B) Baking soda (ii) Production of H,
and Cl,
(C) Washing soda (ii1) Decolouration
(D) Sodium chloride  (iv) Antacid

(a) A-(i1), B-(i), C-(iv), D-(ii1)

(b) A-(iii), B-(ii), C-(iv), D-(i)

(c) A-(iii), B-(iv), C-(i), D-(ii)

(d) A-(ii), B-(iv), C~(1), D-(iii)

Which of the following statements about the
given reaction are correct.

3Fe(s) + 4H,0(l) = Fe,O,(s)+4H (g)

(1) Iron metal is getting oxidised.

(1) Water is getting reduced.

(ii1) Water is acting as a reducing agent.

(iv) Water is acting as an oxidising agent.

(@) (1), (i1) and (iii) (b) (ii1) and (iv)

(c) (1), (i1) and (iv) (d) (i1) and (iv)

The following image represents a carbon
compound.

|O|
C
CH, CH,

which functional group is present in the

compound?
(a) Alcohol (b) Aldehyde
(c) Carboxyllicacid  (d) Ketone

The reactivities of iron, magnesium, sodium and

zinc towards water are in the following order:-
(a) Fe>Mg>Na>Zn
(b) Zn>Na> Mg > Fe
(c) Na>Mg>7Zn>Fe
(d) Mg>Na>Fe>Zn
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20.

21.

22.

23.

24.

25.

26.

27.

BT HIAT T ... afeha 2 |

(a) ger (ORCEER

(c) SUad (d) 379 & BIg el
g & TS B IART BRI & —

(a) TARKTSH (b) ST

(c) T (d) SrgAReTsp
fas & 919 9 9RT BT AH 9argy S
dioT H faefad gar g —

(a) ST (b) diotis

(c) TRTTHTT (d) 379 9§ BIs &
QUi TSl 3 ST ST aTell oTe STaRefaii

& el B T |

() TP, FTTS, YU, SIGR
(b) TS, TP, YT, PR
(c) SR, YT, I, oS
(d) P, 0T, JHTS, PR
ISt H SO B & |

(a) 3rciffTe (b) <iffr

(c) |aferi (d) fawHforft

PN ST et fhdl & ot &1 FaiRor
IR B forg qoHM R IR Bl B

(a) 79 (b) =fer

(c) WU (d) P1g el

A1 #, IfC S B! Q) Sifd < ® *iR
S b HTefl off <ar 2, 1 Wl darel
fRp BT AT BT T R B

(i) Bb (ii) BB

(a) (1) ¥1 (i) 3T

(b) (i) =Tetr (i) e

(c) (i) =T (i) T

(d) (i) *RT (ii) e

Jadel o BT e ofth —— B

(a) AL >1

(b) & <1

(c) THem =1

(d) BT PIg W 79 B AhaT ©
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20.

21.

22.

23.

24.

25.

26.

27.

Photosynthesis is a process.

(b) catabolic
(d) none of these

(a) breaking up
(c) anabolic
Spinal cord originates from -

(b) medulla

(d) cerebellum

(a) cerebrum

(c) pons
After fertilization name the part which develop

into the seeds -
(b) ovule
(d) None of these

(a) ovary

(c) pollen grain
The correct sequence of reproductive stagecs
seen in flowering plant is.

(a) gemetes, zygote, embryo, seedling.

(b) zygote, gametes, embryo, seedling.

(c) seedling, embryo, zygote, gamete.

(d) gametes, embryo, zygote, seedling.

Genetically identical twins are producedin

reproduction.
(a) Asexual (b) Sexual
(c) Homogamy (d) Heterogamy

Which species depend on temperature to

determine the sex of newborn indivduals.

(b) Snails
(d) None of these

(a) Humans
(c) Reptiles
In humans, if gene 'B' gives brown eyes and
gene'd' given blue eyes, what will be the colour
of'the eyes of the person having combination
(i) Bb(ii) BB

(a) (1) Brown (ii) Brown

(b) (1) Blue (ii) Blue

(c¢) (i) Blue (ii) Brown

(d) (1) Brown (ii) Blue

Magnifying power of a concave lensis .
(a) always >1
(b) always <1
(c) always=1

(d) can have any value

Satyam Public School, Ranoli jilil




28.

29.

30.

31.

32.

33.

el g @I 10 TN Bl U d1el IAA
o & UM BIHd 9 5 AT B T IR AT
SIAT | afe aRdfas gfafes a9ar g,
o I gHd BT

(a) 15 9 (b) 20 I

(c) 25 T (d) 30 9

g 45 @ g gfte & ggar — g

(a) TP AHS BT 1,/10af 91T

(b) TH ABS BT 1,/ 16d1 |

(c) TH ABS &I 1 /64l W

(d) TP AHS BT 1,/ 18a1 9N

A1 =3 Bl gite & folg IR YehTeT bl

(b) ST

(c) HEINH TIRh

(d) gt @1 ge

Teh e, Yeh HfcRIEeD, Ueh holl AR Teb THICR
P Aidbe NG H A@y JgaR 2aRerd
foam T 7| UAeR # IS gRT BNl

(a) (i) # TfrHan

(b) (ii) # 3rfSramaH

(c) (iii) ¥ srfermaH

(d) 1 # A

fagd s=0 220V 579 ¥ G WR 4A gRT
el § | $9®T IR M1 afey—

(a) 40 O (b) 55 Q

(c) 100 Q (d) ST & PIg &S

(d) IR PIC DI &FDHA
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28.

29.

30.

31.

32.

33.

An object is put at a distance of Scm from the
first focus of convex lens of focal length 10cm.
Ifareal image is formed, its distance from the

lens will be.
(a) I5cm (b) 20cm
(c) 25cm (d) 30cm

The persistence of vision for human eyeis .

(a) 1/10th part of a second

(b) 1/16th part of a second

(c) 1/6thpartofasecond

(d) 1/18th part of a second

The phenomena of light responsible for the

vision of humaneyeis .

(a) Reflection

(b) Refraction

(c) Power of accommodation

(d) Persistence of vision

A cell, a resistor, a key and an ammeter are
arranged as shown in the circuit diagrams. The
current recorded in the ammeter will be :-

R K)__|+

(1) (1)
(a) Max. in (1)
(b) Max. in (ii)
(c) Max. in (iii)
(d) Same in all cases

In electric iron draws a current of 4A when

connected to a 220 V mains. Its resistance

must be :-
(a) 40 Q (b) 55 Q
(c) 100 © (d) None of these

In series combination, resistance increases due
toincreasein .

(a) Radius of wire
(b) Humidity
(c) Length

(d) Area of cross-section
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34.

35.

36.

37.

38.

39.

40.

41.

42.

BT BT Al B |

Column -1 Column -11
(A) fagga @ifts (i) 9

(B) faega fawa (ii) @

(C) fagd gt (iii) dree
(D) faga wared (iv) TfRRR

(2) A~(ii), B-(iii), C~(iv), D-(i)

(b) A<(iii), B-(iv), C-(i), D-(ii)

(¢) A-(iii), B-(i), C~(iv), D(ii)

(d) A<(ii), B-(iv), C-(i), D-(ii)

JID &3 BT 5B —— |

(a) JR<S (b) Tl

(c) TR (d) dree

GTel $RIeAT H, AR Ul WR ORI B
REdl B

(a) AATETRI (b) TMHTERT

(c) JTECH (d) STEH

AT YR BT TH HRA R ——— 9T 2 |
ORICIEIS (b) =T g3 AT
() ffmrgem = (d) o @1 uel

frferRaa ® | IRl oua P <ar B |
(a) TIRETH ETggavTES

(b) H=REA Tregiaags

(c) HTIT BTESTa™ES

(d) WeREA ETEgiRES

TIERY TS B BESIOTHIBR H fhd SIRE
BT SYATT fhaT STl B |

(a) MARA (b) F=NREH

(c) IfHIH (d) Foa

AT BT G TelT YolTgH & —

(a) <Tgo¥ (b) ufte
ORGIEEK (d) X
ISR fhd B 87

(a) BT (b) TSITEH

(c) 3MHR® (d) e =
it U & A P BHET I & |
(2) BRI ORSIEY

(c) BT (d) ZereT
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34.

35.

36.

37.

38.

39.

40.

41.

42.

Match the column.

Column -1 Column - 11
(A) Electric power (1) Webar
(B) Electric potential (i) Watt

(C) Electric current (i) Volt

(D) Electric flux (iv) Ampere

(a) A-(i1), B-(iii), C~(iv), D-(1)
(b) A-(iii), B-(iv), C-(i), D-(ii)
(c) A-(iii), B~(i), C-(iv), D-(ii)
(d) A-(iii), B-(iv), C-(i), D-(ii)
The unit of magnetic fieldis .

(a) Oersted (b) Tesla

(c) Ampere (d) Volt

In a food chain, the third trophic level is always
occupied by :-

(a) Carnivores (b) Herbivores

(c) Decomposers (d) Producers
Heating limestone produces .

(a) Baking Soda (b) Slaked Lime

(¢) Quick Lime (d) Lime Water

Which one of the following is a medicine for
indigestion.

(a) Sodium hydroxide

(b) Magnesium hydroxide
(c) Manganese hydroxide

(d) Potassium hydroxide
Which catalyst is used in hydrogenation of

vegetable oil.

(a) Iron (b) Magnesium
(c) Chromium (d) Nickel
Enzyme that digests fat is -

(a) Lipase (b) Pepsin

(c) Amylase (d)Renin
What is called Bio-catalyst.

(a) Hormone (b) Enzyme

(c) Reactant (d) Vitamin
The secretion of endocrine gland is called .
(a) Pheromones (b) Enzyme

(c) Hormones (d) Mucus
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43.

44,

45.

46.

47.

48.

49.

50.

JM® 10 km STR DI 3R T & gard
6 km Sf&TOT ®F 3R Ferar B, R 3 km @
X gd e &Y 3R FedT © A1 98 URBIES
fog I fFa @ R 7|

(a) 4km (b) 3km

(¢) Skm (d) 6km

IS quiHTer H 9 | 11 df 31eR & 91
AT 3R PIAT BT ?

(a) K (b) P

©) G d R

= amgpfr # Breit @ o dwer 2

(@5 (b) 7

©) 8 @ 6

DU & [ e H Ul TR DI
AT BT SR 177

(a) FMTYR Al

OEMEIRICENE]

(c) TR 3TfRrerd

(d) wg 3rferger

RexiRe (7Rl ©fT) 9 R &1 F6e
foa <o 9 77

(a) 9 (b) 9RA

(c) 3T CEIEED
RA—LT SIFRT gedl FRYAT dHe garT aT?
(a) 1990 §. (b) 1991 S.

(c) 1992 &. (d) 1993 .

TRGR §RT STeRE frar yfaeel &7 gem
DI Ufha a1 HEA 2°

(a) ATAHRT (b) SERIHIT
ORESIEZYI (d) IR 3TaRIET

=1 5 1 i fawa Faadt g 3§ i
g7
(a) gfer

(c) e

(b) e
(d) B
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43.

44,

45.

46.

47.

48.

49.

50.

Rakesh walks 10 km northwards, then
walks 6 km southwards, then walks 3 km

eastwards. How far is he from his starting

point?
(a)4 km (b)3km
(¢)5km (d)6km

Which letter in the English alphabet will be 4th
to the left of 11th letter from the left?

(aK (b) P

(G (R

The total number of triangles in the following
figureis

()5 (b) 7
(c)8 (d)6
In which session of the Congress was the
demand for Poorna Swaraj accepted?

(a) Nagpur Session
(b) Karachi Session
(c) Lahore Session
(d) Bombay Session

with which country?

(a) China (b) India

(c)Africa (d) Sri Lanka

When was the Rio-de-Janeiro Earth Summit
held?

(a) 1990 AD (b) 1991 AD

(c) 1992 AD (d) 1993 AD

What is the process of removing barriers or
restrictions by the government called?

(a) Globalization (b) Liberalization

(c) Privatization (d) Trade barriers
Which of the following subject is included in

the Concurrent List?
(a) Police (b) Education
(c) Defence (d) Agriculture
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51. "IRGR SRR i gRASHEr i 94 W)
Rerd 21
(a) el A4l (b) TTHaT Tl
(c) QTHIGR 4T (d) T A
52. "ORIYR 3MfUqd Fholl i7" Rerd T |
(a) AT YT (b) STR U<
(c) HERTSS (d) NToTRRITT
53. f=falRaa & 9 foad uRfe gerit @
Ugg sruRafid & Bl
(a) Y BT TBI I
(b) foheceliaRor &1 Ufhar gRT fheea &l
femfor
(c) R BT fbva |
(d) WISTH BT U= |
54, fa=foRad # & B9 W ISR ufhany
g |
(a) U1 @1 99T 31 I & AT SAffehaT |
(b) ST T TTHRT |
(c) T T ITTeHRT |
(d) PR (fh¥ce) BT Iedura |
(a) (i) and (ii)
(b) (ii) and (i)
(©) (i)and (iv)
(d) (iii) and (iv)
55. S Ply &R [l o1 & AT AMTHAT
PHRAT B, A I8 1T g1 8, 3R BIgsioi
™ e 2, ggso a IuRAfT &I
gdT fba fafdy I T ST Ahdr B |
(a) I 9
(b) forcmsa TR ¥
(c) et 3INST &
(d) STefell gg AHe |
56. CH,COOC,H_&T IUPAC - dTsg |

O RRERSEIECR L

(b) Hege

ORPERCEIIN

(d) TRreT A HETfdfeld 37
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51. On which river is the “Sardar Sarovar Dam

52.

53.

54.

55.

56.

Project” situated?

(a) Sutlej River (b) Narmada River
(c) Damodar River (d) Ganga River
"Tarapur Atomic Power Plant” is situated in:
(a) Madhya Pradesh  (b) Uttar Pradesh
(c) Maharashtra (d) Rajasthan

In which of the following, the identity of initial

substances remains unchanged.

(a) Curding of milk

(b) Formation of crystals by process of
crystallisation

(c) Fermentation of grapes.

(d) Digestion of food.

Which of the following are exothermic

processes.

(1) The reaction of water with quick lime.

(i1) Dilution of acid.

(1i1) Evaporation of water.

(iv) Sublimation of camphor (crystals).

(a) (1) and (ii)

(b) (ii) and (iii)

(c) (i)and(iv)

(d) (iii) and (iv)

When a base reacts with a metal, it forms a

salt, and hydrogen gas is released, By what

method can the presence of hydrogen be

detected.

(a) by water

(b) by litmus paper

(c) by methyl orange

(d) by a burning candle

Give the IUPAC name of CH,COOC H,
(a) Ethyl ethanoic acid

(b) Butanoate

(c) Ethyl ethanoate

(d) Ethyl methyl carboxylic acid
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57. Mg PG, 4) @ x-317 | 0 7°
@ 5 (b) 0
(c) 4 (d) 16
58. tan%60° + 3c0s230° BT AT T—
20 11
(@) — ® 5
21 10
© @ =
2tan 30°
59, ———=—5 DI HA B
1—tan’ 30
1 3
@ 73 (b) %
1
© 3 Gy
60. AT sin3x =1 B AT x BT A9 5—
(a) 60° (b) 30°
(c) 45° (d) 90°
61. TP MR B Hdls $Hd! BRIT BT /3 T
g A1 gd BT IAT BT 28—
(a) 30° (b) 450
(c) 75° (d) 60°
62. TH AT A H 75 m Bl a8 R S &l
g | for e amt &1 9 & 1 g 6008
aqr g B TS BRI
(@) 753m (b) 1504/3m
(€) 5043m (d) 30043m
63. 30m S MR & RER 9 gedl R h
fIvg &1 31aTH9 BIT 60°2 | fIvg @1 HFR
@ e A B
(@) 103/3m ®) 15\3m
(c) 60 m (d) 30m
64. 6m S UH TH BT BT 233meHl g
G BT I DIV ET—
(a) 30° (b) 450
(c) 60° (d) 90°
I{UME Satyam Public School, Ranoli

57.

38.

59.

60.

61.

62.

63.

64.

The distance of the point P (5, 4) from x -axis
is -

(@5 (b) 0
(c) 4 (d) 16
The value of tan?60° + 3cos230°1s -
20 L
@ ®
21 o 10
© 5 @
2tan 30"
The value of 1_;1173()() 1S -
1 5
(a) 5 (b) ER
1
© 3 @ 75
If sin3x = 1, then the value of x is -
(a) 60° (b) 30°
(c) 45° (d) 90°

Ifthe height of a building is /3 times its shadow

then the angle of elevation of the sun is :

(a) 30° (b) 45°

(c) 75° (d) 60°

Akite s flying at a height 75m from the ground.
If the inclination of the string with the ground

60° , then the length of the string will be-
() 75/3m (b) 15043m
() 5043m (d) 30043m

The angle of depression of a point on the earth
from the top of a 30m tall building is 60°, The
distance of the point from the foot of the

building will be-
@) 10:3m (b) 153m
() 60 m (d) 30m

If the shadow of a pole of height 6m is 2,/3,
then the angle of elevation of the sun is:

(a) 30° (b) 45°

(c) 60° (d) 90°
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65.

66.

67.

68.

69.

70.

71.

72.

73.

U6 fag P¥ O &= 9Tl gd W PA 9 PB
WY NG UREWR 80 DIUT WR bl B
Z/POA T A &

(a) 50° (b) 60°

(c) 80° (d) 70°

T ga o1 IR TR fra= ot YRarg Eidr
ST Al 8—

(a) TP (b) <

(©) & (d) 3t

Uh g B e & gg gRT 20 fAe |
Brg TN IRd I Bl T g—

(2) 150° (b) 180°
(©) 120° () 60°
Th gd B < SUrEve F1 BIor 25008
ar Y BAREUS BT DT BT A BT
(2) 30° (b) 110°
(©) 150° () 90°
2 1em AT @Tel g & A9 B7s WR 60° BT
HIVT AIRT HRAT 8 T <7 BT w18 BN
-2

7
(a) 21cm (b) 22cm
(c) 44 cm (d) 231cm
14 com 331 916t 9a & IJATT BT &FBe
T—
(a) 154cm? (b) 254cm’
(c) 22cm? (d) 164cm?
T T DI e g Sem d HATS 4em
1 Ol ¥q & SR BT ATH BT A o—
(a) 3cm (b) 6cm
(¢) 9cm (d) 2cm
T 3 DI AT 2.5cm TAT HATS 6 cm B
o1 v @ R S @ A A
(a) 3.5cm (b) 4.5cm
(c) 8.5cm (d) 6.5cm

o9 & TP U Bl YRAY 28cm & T T B
3T 8-
(a) 143cm®
(c) 216cm?

(b) 343cm?
(d) 125cm?
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65.

66.

67.

68.

69.

70.

71.

72.

73.

Iftangents PA and PB from a point P to a circle
with centre O are inclined to each other at angle

of 80°, then /POA isequal to-

(a) 50° (b) 60°

(c) 80° (d 70°

How many tangents can be drawn on the
circumference of a circle?

(a) 1 (b) 3

(c) 2 (d) infinite

The value of the angle subtended by the
minute hand of a clock at the centre in 20

minutes 1s-
(a) 150° (b) 180°
(c) 120° (d) 60°

If the angle of the major sector of a circle is
250° then the value of the angle of the minor
sector will be-

(a) 30° (b) 110°

(c) 150° (d) 90°

In a circle of radius 21cm, an arc subtends an
angle of 60° at the centre, then the length of
the arc will be-

-3

(a) 21 cm (b) 22cm

(c) 44cm (d) 231cm

The area of a quadrant of a circle of radius 14
cmis:-

(a) 154cm? (b) 254cm?

(c) 22cm? (d) 164cm?

If the slant height of a cone is 5 cm and its
height is 4 cm then the value of the diameter of
the base of the cone is:

(a) 3cm (b) 6cm

(c) 9cm (d) 2cm

Ifthe radius of a cone is 2.5 cm and its height
is 6cm, then the value of the slant height of the

coneis:
(a) 3.5cm (b) 4.5cm

(c) 8.5cm (d) 6.5cm
If the perimeter of one surface of the cube is
28 cm then the volume of'the cube is:

(a) 143cm® (b) 343cm’
(c) 216cm? (d) 125cm?
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74. 9o ©: fAwH yrga d@mei &1 Ard g
(a) 7 (b) 6
(© 8 (d 4
75. Ife il &1 9gadd 709 AR 100§ AT
Jipsi BT ARID TF BNTT—
(a) 70 (b) 30
(©) 90 d) 100
76. o= dcq &7 ARy 58 AT P &1 A9 8NT—
X 2 4 6 P
f 3 2 1 4
(a) 8 (b) 7
(c) 7.5 (d) 6.5
77. Uh U & Udb IR SVl UR 3T
RT3 BT UTAbT 2—
1 1
(@) 3 (b)
2 N
(© 3 (d) 3
78. 3T YA I U A1 ST UR SIF1 Ul
TR YT ARl BT AR 9 AT 12 8 Y
ifedr Brfl—
1 oS
@ 5 ®) 3¢
1 o7
(© G (d) 36
79. Uh RIFp BT a7 IR IV W 3Mfdd A
JIfp TH Ue I BT UIfhdT a—
2 o1
(@) 3 ®) 7
1 o3
© 5 @ 5
80. IS 9gUT 2x*>+x +k BT U YLIH 38 dl
k ®T 99 8RT—
(a) 21 (b) 12
(©) 21 ) -12
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74.

75.

76.

77.

78.

79.

80.

The mean of first six odd natural numbers:-
(a) 7 (b) 6

(c) 8 (d) 4

If the mode of the data is 70 and mean is 100,
then the median of the data will be-

(a) 70 (b) 30

(c) 90 (d) 100

If the mean of the following distribution is 5,
then the value of P will be:

X 2 4 6 P
f 3 2 1 4

(a) 8 (b) 7
(c) 7.5 (d) 6.5
A dice is thrown once. The probability of
getting a prime number is-
1 .
@ 3 ®
2 N
© 3 @ 3

If two dice are thrown simutaneously, the

probability that the sum of the numbers
obtained on both the dice is 9 or 12 will be-

1 LS
@ 5 ®) 3¢
1 o7
© < @ ¢
The probability of getting at most one tail when
acoin is tossed twice is-
2 L
@ 3 ® 5
1 3
© 5 @ 3
If the zero of polynomial 2x*+x +k is 3, then
the value of k will be:
(@) 21 (b) 12
(c) -21 d) -12
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81.

82.

83.

84.

85.

86.

87.

88.

89.

90.

2= BT UgaT 3ifold ST e YhId

3T o |

(a) S 1916 # (b) ¥ 1926 H
(c) & 1936 H (d) &9 1906 H
ANITE H gaEd” UG & |

(a) N (b) STHBAT
(c) <ferd fora=er (d) IEROT oG
RIFFT T H G B

(a) ST (b) faef

() ¥R (d) ToT ¥R

3 g 7 g1 TR &I A1 T |
(a) <3 BT J'G B S

(b) ReR <=

(c) USTD 1 SUhI

(d) 3@ el X§ ST

HETha’ Isg H AN B

(a) I (b) FHIRY
(c) TYY d) g%
YT’ eg § SUNI & |

(a) ufcr b) ¥

(c) a& (d) U

I 3R T SFT 918 B | — Yifdd ¥
¥ 37y Ug 2 |

(a) T TR

(b) W AT

(c) fopam—farreor

(d) fosTafe S

H 1l forgar € — UIS & IMER W odd
IR fha v & dareR 9|

(a) IO BT (b) fa=m &1

(c) &=l @1 (d) 3RS &1
AT BT SIS’ UG ol bl
RIBT B Agell AT BT Y fha-r ot |
(a) 40 IY (b) 30 a¥

(c) 20 99 (d) 50 a¥

PN 8 W & 9 Hid A9 O o |
(a) BB T (b) Hfdd 3=

(c) I I FIR W (d) 2T A
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91.

92.

93.

94.

95.

96.

97.

98.

99.

Heisnothere.He............... to school.
(a) isgoing (b) was going
(c) goes (d) hasgone
Ten miles................ along way to walk.
(a) is (b) are

(c) am (d) were

Sita will write a letter.

(a) Aletter would be written by her.
(b) A letter will be written by Sita.
(c) A letter will write by Sita.

(d) A letter would write by Sita.

Teacher said,"Honesty is the best policy."

(a) Teacher told that honesty is the best policy.

(b) Teacher said that honesty is the best
policy.

(c) Teacher said that honesty was the best
policy

(d) Teacher said if honesty is the best policy.

I went to Sikar to buy books.

(a) Why do I go to Sikar?

(b) Why did you go to Sikar?

(¢) Whydoes I go to Sikar?

(d) Why did you go to Sikar to buy books?

Few students passed the exam, ............... ?
(a) did they? (b) didn't they?
(c) do they? (d) don't they?
To whom was the letter written?

(a) God (b) Postmaster
(c) Postman (d) Lencho
Where was the tea drunk first?

(a) India (b) China

(c) Nepal (d) Europe
How many children did Ramlal have?
(a) Three (b) Four

(c) Seven (d) Nine

100. Who is the writer of 'A Question of Trust.'?

(a) James Herriot
(b) K.A. Abbas
(c) Victor Canning
(d) Robert Arthur
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